(DINWN N2 DY DAY 'R)IV0A7'0 NI'TN

D INDIN .0 X7 DMo0N 2 -1Y 2 ¢ b ,a DT
.(a—l—b)z—l—(b—l—c)a:—l—(c—l—a)y > 2\/(ab + ac + be)(xy + zz + y2)
1D INYIN .D"WNAN DN90N z -1 Y 2 ¢ b ,a ' .2
a:z:—|—by—|—cz—|—\/(a2 + b2+ ) (22 +y2 4 22) > %(a+b—|—c)(a:+y—|—z)

DNDINat+btrect+d=xz+y+z+1t 0 3
$2+y2—|—22—|—t2

ar+by+cz+dt+ 5 > ab+ac+bc+ad+bd+cd

-l 2y +rz+yz+ayz=4 pmapnnpmoonz-lY .,z e b a4
T n Y + -4 - TYZ 4o

.a b ¢~ abc 2D ININ .ab+ ac + be+ abe = 4

2D INDIN .0MA'N DM%0N 2 -1Y .z ¢ ,b ,a 'N' D

b+c c+a a+b (a+b+c)?
+ + > 2
ax by cz abc(xy + zz + yz)

D INDIN .0"w XY DMoonz-1Y e b a6
(ax+by+cz)(ay+bz+cx)(az+br+cy) > \/(ab + ac+ be)3(zy + xz + yz)?




